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THBEFE LKEFX EMEAKBEIFRLUOMK)

A EAB 4 34 7R 148 | FEMIE CHERIRS) ¥7,351,819
FIER ETKER
AHE =% (M Ayt—o ®5%E

1 (=4t Wi 7,200,000 RTE

2 |BA=tt FHKEE 7,295,000

3 |BEKEERRE 7,320,000

4 |BA=t BLUERKEERS 7,350,000

5 |KXsit MEEREE 7,351,819

6 |BFEOEE 7,351,819
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X SEOFEHIRME R CRIEHRBEEEETROEESYTT,
B K ) R A % 6,354,911 M
ARSI R i1 2 86.44 %
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AFISHLEZEE |FI3FE #HREABEREXMNEEX ZR-TRER ZHEETS

A# & A A TF 3% 7A148 | T EfMiE CHERRSE) ¥30,861,819

IR R

ARLE 8 Ayt—o e

1 |%kA&tt Ki5LE 30,200,000 RE

2 |ERStt AFEE 30,750,000

3 |BEHXEH RILITFHE 30,850,000

4 |BERS FBEER 30,860,000

5 | KEEH% st 30,860,000

6 |N\NEEEE BRSH 30,860,000
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8 |AR=4 KERER #R
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¥ SEOREFRMERVREFBRMEEEITROESYTT,
= 1K il PR i 1% 27,087,418 M
S HIR ffiAg = 87.77 %



AtLFERR

ARLIZHLIZEE | SHSEE BAKEMHLAEMMREDKERX MEFFE2-210K

A EAB 4 34 7R 148 | FEMIE CHERIRS) ¥38,478,182
FIER BRR
AHE =% (M Ayt—o ®5%E
1 | K=EHR Hlatt 37,950,000 RE
2 |AR=# SHERIE 38,360,000
3 |MR=#t AWIHE 38,470,000
4 |N\EREX BREMt 38,478,000
5 |ARs AEEE 38,478,182
6 |HX=tt KiFtiE 38,478,182
7 |KREER et 38,478,182
8 |MRX= JRTH R
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¥ SEOREFRMERVREFBRMEEEITROESYTT,
= 1K il PR i 1% 34,257,125 M
S HIR ffiAg = 89.03 %
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THBEE #HREAEBREXNEERX FEARE BEREISE

A EAB 4 34 7R 148 | FEMIE CHERIRS) ¥22,111,819
FIER BRR
AHE =% (M Ayt—o ®5%E

1 (%At FHER 21,700,000 RTE

2 |KA= NEEH 22,110,000

3 |ARs FHER 22,111,000

4 |BR=# SkER 22,111,000

5 |BR=# S#HLT#E 22,111,819

6 |HX=tt KiFtiE 22,111,819

7 |ARE KIEFEH R
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X SEOFEHIRME R CRIEHRBEEEETROEESYTT,
B K ) R A % 19,599,916 M
ARSI R i1 2 88.64 %
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ARISHLEZEE |[FH28E @) PERERMEFHEESEE BRAMPFRENESEERBETSE

A EAB 4 34 7R 148 | FEMIE CHERIRS) ¥20,420,000
FIER FREER
AHE =% (M Ayt—o ®5%E
1 [#Xet BSLES 18,700,000 RE
2 |BRS# MAHIF 18,780,000
3 |ARs FHZAHITIEE 20,400,000
4 |AR=# RARSE 20,420,000
5 |BRSit HREAZRERE R
6 gk_rit%*i E—IXR=% HHEZ 8
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¥ SEOREFRMERVREFBRMEEEITROESYTT,
= 1K il PR i 1% 18,596,494 M
S HIR ffiAg = 91.07 %



